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THEORY (Marks : 40)

Group A

Answer any one question : 1×10=10

1. (a)
3H OCHO

CHO

50%
NaOH

? ?

(b) Distinguish by a chemical reaction between chlorobenzene and benzylchloride.
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(c) What are the conditions of Iodoform test?

(d) Identify 1°, 2° and 3° alcohols with the help of Lucas reagent.
1

4 2 10
2

 

2. (a) What will be the effect of incorporating an inert gas into the system having the following
equilibrium.

   2 2N g 3H g  32NH g

(b) State and explain Third Law of thermodynamics.

(c) Calculate the pH of  810   aqueous solution of HCl.

(d) Why nitrobenzene is used as a solvent in Friedel Crafts reaction.
1

4 2 10
2

 

Group - B

Answer any two questions : 2×15=30

3. (a) Derive Kir Choff’s equations. 4

(b) Write note on Reimer Tiemann reaction. 4

(c) Acetaldehyde gives Aldol condensation reaction but benzaldehyde does not. — Explain.
4

(d) 6 5HCHO C H CHO 50%
NaOH

 ? 3

4. (a) convert : Cumene   Phenol 3

(b) Prove that  H E n RT     (symbols have their usual significances) 5

(c) What do you mean by solubility product and common ion effect? 2+2

(d) Convert 3CH I 3CH

3CH

3CH

3CH

C O 3



5. (a) State Le Chatelier’s principle. 3

(b) Write note on Sandmeyar reaction. 4

(c) 3CH 3CH 3CH 2CH

3CH

C

O

? C = 3

(d) Write the uses of 2SCO  in organic chemistry.. 3

(e) What is PCC ? 2

6. (a) Prove that a
1 1

PH 7 pK log C
2 2

    (where symbols have their usual significances) 5

(b) 3CH MgBr 3CH 3CH

3CH

?
C

OH

2

(c) Prove that   n
p cK K RT    (where symbols have their usual significances) 5

(d)
2 5C H OH

3HNO

CHO

KCN ? ? 3

1×10=10

1. (a)
3H OCHO

CHO

50%
NaOH

? ?

(b)



(c)

(d) 1°, 2° 3° 
1
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 

2. (a)    2 2N g 3H g  32NH g

(b)

(c)  810  pH

(d)

1
4 2 10

2
 

 : 2×15=30

3. (a) 4

(b) 4

(c)

4

(d) 6 5HCHO C H CHO 50%
NaOH

3

4. (a)  3

(b)  H E n RT    5

(c) 2+2

(d) 3CH I 3CH

3CH

3CH

3CH

C O 3



5. (a) 3

(b) 4

(c) 3CH 3CH 3CH 2CH

3CH

C

O

? C = 3

(d) 2SCO  3

(e) PCC 2

6. (a) a
1 1

PH 7 pK log C
2 2

   5

(b) 3CH MgBr 3CH 3CH

3CH

?
C

OH

2

(c)   n
p cK K RT   5

(d)
2 5C H OH

3HNO

CHO

KCN ? ? 3

PRACTICAL  (Marks : 20)

Paper : DSC 1B P

Answer any one question : 1×20=20

1. Discuss the procedure of measurement of the pH of buffer solution.

2. Discuss the process of purification of organic compounds by crystalization.

3. Describe the procedure of bromination of phenol.



1×20=20

1. pH 

2.

3.

_____________


